
𝑦 =
𝑥

𝑥ଶ − 2𝑥 − 3
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

𝑦 =
1

𝑥ଶ − 1
⎯⎯⎯⎯⎯⎯

                  𝑥ଶ−1 = 0
(𝑥 + 1)(𝑥 − 1) = 0

𝑥 + 1 = 0
        𝑥 = −1

𝑥 − 1 = 0
        𝑥 = 1

𝐻𝐴:   𝑦 = 0

𝑉𝐴:   𝑥 = 1𝑉𝐴:   𝑥 = −1

𝑉𝐴:

𝑥 𝑦

−2 1

3
⎯⎯

−1 𝑢𝑛𝑑

0 −1

1 𝑢𝑛𝑑

2 1

3
⎯⎯

𝑥 𝑦

-2
−

2

5
⎯⎯

-1 𝑢𝑛𝑑

0 0

2
−

2

3
⎯⎯

3 und

4 4

5
⎯⎯

𝐻𝐴:   𝑦 = 0

𝑉𝐴:   𝑥 = −1 𝑉𝐴:   𝑥 = 3

𝑉𝐴:      𝑥ଶ − 2𝑥 − 3 = 0
(𝑥 + 1)(𝑥 − 3) = 0

𝑥 + 1 = 0
        𝑥 = −1

𝑥 − 3 = 0
        𝑥 = 3

𝑥 − 𝑖𝑛𝑡:

0 =
𝑥

𝑥ଶ − 2𝑥 − 3
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

0 = 𝑥
𝑥 = 0

𝑦 =
0

0ଶ − 2(0) − 3
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

𝑦 = 0

𝑦 − 𝑖𝑛𝑡:

(0,0)

𝑦 − 𝑖𝑛𝑡: 𝑦 =
1

𝑥ଶ − 1
⎯⎯⎯⎯⎯⎯

𝑦 =
1

0ଶ − 1
⎯⎯⎯⎯⎯⎯

𝑦 = −1

𝑥 − 𝑖𝑛𝑡: 𝑦 =
1

𝑥ଶ − 1
⎯⎯⎯⎯⎯⎯

0 =
1

𝑥ଶ − 1
⎯⎯⎯⎯⎯⎯

0 ≠ 1

(0, −1)

(0, −1)

(0,0)

(−2, −
2

5
⎯⎯) (2, −

2

3
⎯⎯)

൬4,
4

5
⎯⎯൰

(2,
1

3
⎯⎯)(−2,

1

3
⎯⎯)

C12 - 9.4 - Graph 2xVA's Notes

   Rat Page 1    


